BBC LEARNING ENGLISH —
Q and A of the Week 1R 8] F2 LEARNING
Why 'bigger'? A7 H bigger?

ENGLISH
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Yang Li
REGF, BEMF . YOWWITBBCHIEH A H (RAIED) o YW H, EAI#HE
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m ., i Alice T iE:

Question

This is Lizzy from Shanghai, China. | notice that whenever a native speaker of English
describes something with an adjective then the contrary adjective would follow, and it will
appear in the comparative form. Take 'small' for example:

This car is small for me. | need a bigger one.
This shirt is small. | can't put it on. | need a larger one.

Can't we just say 'l need a big/large one'? Looking forward to your reply.

Best regards,
Lizzy

Yang Li

W Lizzy. XANRERA S X2 SME NP IEE N 28 20— MR, T HAR T
YA VIR IRAR . AT B IATHE— A RATIX A [0 R R E —F, R T
Lizzy 512 95> 5) 5 B A4 B4 i bigger Allarger.

FE—5):  “This car is small for me. X NEXHERUD. 7 o WE THITE, NEAT?
IR TR E AN K/ - “l need a bigger one.” . X HL] bigger HSZAHX] /2 too
small, XFEIMRATE, XAME BRI Y%A -

Example
This car is too small for me. | need a bigger one.

Yang Li
I AR AT L A R B R R big ST b 2Rt -
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Example
This car is small for me. | need a big one.

Yang Li

RAER R “IXEN, WHEERE. 7 o HORET B ams? 2
HNEEE B NS, ERERME, WG B CRE MR E A%,
ERMAIFAERE . 2R a bigger car, HA— MRS Y, AKX
TR E R A

’jmﬁﬂjml_,l —/AMEH “This shirt is too small, | can't put it on. X{FATACKN, FREF
TJ:O o VER, &QAJﬁ’jﬂDLT—Ai‘%TfirE’J 3] too FKx “AR/N” HY “K”7 .
KR A— RGO T e B N #2iX A8 - “This shirt is too small, | can't put it on.” X {4
PARKANELIP? BRZH— R —LH . FrPAEEA)52 “I need a larger one.” .
RS — M ) ) AR A — FE o BCARIR BT MG 25 KRR, IR PR % i R —
PRI, ANFKRRFEAR, ZRAEE, KT, E2FKT? BIRRSEETEE
HHIX A IRVE “1 want a bigger one than the one | have just tried on. H3R NI X 14
BR—EE, 7 o KRB EREE, AR, B DLEA R 25 10 1 A
% larger. FATFFHIX A1 58 B W — i -

Example
This shirt is too small. | can't put it on. | need a larger one.

Yang Li

JITLAE D€ A AN S 7 EE R 3R] (0 LUAR N BB e . TR 2 8 AN RAE
CRT EAREARIARER . A AR AREEIE AT, TR
A BB AT A el B FRROR AR K5 1 XA “R57 B4
RIE? BE, REFEERIRS W2 E0XS i

Example

A: Hi, this is our latest model with 8 gears.

B: How much is it?

A: 800 yuan.

B: Oh, that's too expensive for me. Do you have anything cheaper, below 500 yuan?

A: Yes we do. How about this one? It is quite popular with young people of your age. It's
only 200.

A: Well, | do want something cheaper but not that cheap, it looks like it's for kids.

B: I'm sorry, let me find you another one.

Yang Li

FCHTTHUE 7 4R LU i, URAH TR R R R, AR AT REIE R 2R 1R B
SUEX T AR, AR S RS . TR R IE B IRREARENT R
N2 Luey i8R, JFMIE T HE?
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Example

Simon: So do you cycle to work?

Lucy:  Yes, it's much cheaper than taking the Tube.

Simon: It's good exercise too.

Lucy: Do you cycle?

Simon: | used to. | once competed in the London Sky ride and | won the second prize.
Lucy:  Wow, | didn't know you were so good at sports when you were young.
Simon: Do you mean | am old now?

Lucy:  Sorry Simon. What | meant to say was when you were younger.

Simon: Haha, I'm only joking.

Yang Li

Lucy UtifiA/Nty, H T “when you were young” SEJE “TEARFEMIIIR” & &
Simon IUFEZE T : FTLA Simon [l “IRILAEZE 715 ” BIRHE, Lucy & EIEHRIFL IE
THG, Wit “young” K T “younger” , RIELE “URENFERMIEME” , RIGH
RSLZN A —FE

Sbr b, Wi LR E AL ERE BN, 1 HIeE B BARAZ A
A LB, EIRZ AEAREERBIHAUNE COZ T, PreliXg M Esgal v E1
HOR, AT R 1A e LR A AR B

W7, SRMIFRIZ L. BS T A BN R AT, questions.chinaelt@bbe.co.uk
FHIURYS Lizzy B A0, IS HT . NIRE) (REFRED) W H #
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